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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226618181 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pamela said. “Man i1s mortal.”

Choose the reported speech of the sentence.

1. Pamela said that man is mortal.

2. Pamela asked the man to be mortal.

3 The man said that Pamela 1s mortal.

4. Pamela said that man was mortal.

Options :
1.¥ 1
2. % 2
3. % 3
4. % 4

Question Number : 2 Question Id : 39226618182 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He said to me. “How long will you stay here?”

Choose the indirect speech of the sentence.

i He asked me how long would I stay there?
2. He asked me how long I would stay there.
3. He asked me if how long I would stay here.
4. He requested me how long he would stay here.
Options :
1% 1
2.¥2
3. %3

4, % 4



Question Number : 3 Question Id : 39226618183 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a dictionary. the word that is being defined 1s called .....
I the pronunciation

2, a Synonyim

3. a definition

4. an entry word
Options :
1. %1
2.% 2
3. % 3
4.9 4

Question Number : 4 Question Id : 39226618184 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The way a dictionary is organized 1s ...........

1. thematically

2. alphabetically

LS

the difficulty level
4. the smallest to the largest

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 5 Question Id : 39226618185 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
James 1s his brother.
Choose the expression that fits the blank.
1. the tallest of
2. as taller then
3. as taller as

4. as tall as

Options :
1. % 1
2. %2
3. % 3
4.9 4

Question Number : 6 Question Id : 39226618186 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Alexander was one of kings who ever lived.
Choose the expression that fits the blank.

1. the greater

2. greater that

the greatest

Tad

4. the great as
Options :
1. % 1
2. %2
3.¥3
4. % 4



Question Number : 7 Question Id : 39226618187 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Peter is leaving for England. we are holding a farewell
dinner for him.

Choose the correct linker that fits the blank.

I or else
2. since
o S0
4. for
Options :
1. %1
2. % )
3.¢3
4. % 4

Question Number : 8 Question Id : 39226618188 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police are determined to find the culprits it may
take a long time to trace them.

1. the more
2. however
3. 50 and so
4 Nno sooner

Options :

1. %1

2.4 2

3% 3

4.% 4



Question Number : 9 Question Id : 39226618189 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Mary shall go and Ravi will come.

Choose the coordinate clause from the following.

1. and

2. Mary shall

Td

g0

4, Ravi will come
Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 10 Question Id : 39226618190 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As we will be touring, we could take the tent just we
see a nice campsite and want to stop.

Choose the linker that fits the blank

1. 111 case
2. unless
3. until

4. hardly
Options :
1.v 1
2. % 2
3.% 3
4. % 4



Question Number : 11 Question Id : 39226618191 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He shall go where his mother goes.

Choose the adverbial clause from the choices given below.
1. where his mother goes

Z; mother goes

3 He shall

4. shall go

Options :
1.v1
2. % 2
3.% 3
4, % 4

Question Number : 12 Question Id : 39226618192 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

he 1s a strong man. he had no trouble hiking with a
heavy rucksack.

Choose the conjunction that best completes the meaning of the
sentence.

1. Though
2 Unless
3. Since
4. Not only
Options :
1. % 1
2. % 2
3.¥3

4.% 4



Question Number : 13 Question Id : 39226618193 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teacher. as well as the students on vacation

Choose the verb that fits the blank

| have been
7. are
3. 15
4, Were
Options :
1. % 1
2. % 9
3.¢3
4. % 4

Question Number : 14 Question Id : 39226618194 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Either he or you to go there tomorrow.
L has
2. have
3. 15
4. will
Options :
1% 1
2.¥2
3.% 3

4.% 4



Question Number : 15 Question Id : 39226618195 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sun 1s one of the stars that light to the planets.
Choose the correct verb that fits the blank.
gives

1
2, give

L |

has give
4. are giving

Options :

1.¥1

2. % 2

3.% 3

4.% 4

Question Number : 16 Question Id : 39226618196 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Everybody among your friends playing.

Choose the correct form of verb that best completes the
sentence

1. like
2 likes
3. liking
4, have liked
Options :
1% 1
2.9 2
3.% 3

4.% 4



Question Number : 17 Question Id : 39226618197 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who has cooked lunch?

Choose the article that fits the blank.

L a
2. an
3. the
4. No article 1s required
Options :
1. %1
2.% 2
3.¢3
4.% 4

Question Number : 18 Question Id : 39226618198 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[ was completely at loss of words.

Choose the article that fits the blank.

I; a
2. an
3. the
4. No article 1s required
Options :
1.¥1
2.% 2
3. % 3

4.% 4



Question Number : 19 Question Id : 39226618199 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

NATO was established in 1949,

Choose the article that fits the blank.

L. A
2. An
3. The
4. No article is required
Options :
1% 1
2. % 2
3.% 3
4.9 4

Question Number : 20 Question Id : 39226618200 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Someone has stolen my mobile.

Choose the correct passive form of the sentence.

1. My mobile have been stolen.

2. My mobile was stolen.

L |

My mobile has been stolen.
4. The mobile has been stolen.

Options :

1. %1

2. %2

3.¥3

4.% 4



Question Number : 21 Question Id : 39226618201 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Are you sure my table by this cleaning flud?
Choose the option that fits the blank.

E Won't have damaged

12

hadn’t damaged

hasn’t been damaging

L |

4, won't be damaged

Options :
1. % 1
2.% 2
3.%3
4.9 4

Question Number : 22 Question Id : 39226618202 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The short form of ‘Book keeper’ 1s

1. BKPR
2 BKKP
3. BKKR
4. BOKR

Options :

1.¥ 1

2. % 2

3. % 3

4.% 4



Question Number : 23 Question Id : 39226618203 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The abbreviation of ‘Compare to” is
L P
2. Cd
- Ca
4. Ct
Options :
1% 1
2. % 2

3. %3
4.¥ 4

Question Number : 24 Question Id : 39226618204 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The full form of “Col” 1s .....

0! Colony
2 Color
3. Colonel
4. Colos

Options :

1. % 1

2. % )

3.¢3

4.% 4



Question Number : 25 Question Id : 39226618205 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘ESL" stands for
English as a Second Language

1
2. English as a Second Language Programme

[N

English for speakers of others Languages

4. Teaching English as a second Language

Options :
1.1
2. % 2
3.% 3
4. % 4

Question Number : 26 Question Id : 39226618206 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He is so sick that he cannot speak.

Choose the simple sentence of the above.

1. He is too sick to speak.
2, He is very sick and he cannot speak.
3. As he is sick, he cannot speak.
4. He is sick so he cannot speak.
Options :
1.¥ 1
2.% 2
3.% 3

4, % 4



Question Number : 27 Question Id : 39226618207 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Inspite of being rich. he is humble.
Choose the compound sentence of the above.
1. Being rich, he is humble.
2. He is humble so that he became rich.
3. He is rich but he is humble.

4. He 1s rich so that he 1s humble.

Options :
1. %1
2. % 2
3.¥3
4, % 4

Question Number : 28 Question Id : 39226618208 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I knew about her previous activities.

Choose the complex sentence of the above.

. I knew her and her previous activities.
2 Her previous activities are known to me.
3. I knew as if her previous activities were.,
+. I knew what her previous activities were.
Options :
1% 1
2.% 2
3. %3

4.9 4



Question Number : 29 Question Id : 39226618209 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Are you going to school.” asked Sawyer
In the above sentence, the following change should be done.
i It should be an exclamation mark instead of a comma.
2 The quotes should be removed.
3. It should be a question mark at the end of the sentence.

4. It should be a question mark before the end quote.

Options :
1. %1
2. %2
3.% 3
4.9 4

Question Number : 30 Question Id : 39226618210 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the word that should be capitalized.

1. city
2. spanish
3. airl
4. country
Options :
1% 1
2.2
3.%3

4.% 4



Question Number : 31 Question Id : 39226618211 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correctly punctuated sentence

1. How old she 1s?

2. How old is she?

How old she 1s:

LS ]

4, How old 1s she!

Options :
1. % 1
2.2
3.%3
4. % 4

Question Number : 32 Question Id : 39226618212 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

He drove from New York Boston in five hours.

Choose the correct word that fits the blank.

1. t1ll
2 o
3. toward
4. until
Options :
1. %1
2.2
3. % 3

4.% 4



Question Number : 33 Question Id : 39226618213 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He arrived about six in the morning.
Choose the correct preposition that fits the blank
1. at
2 for
3. n
4. o1

Options :

1.¥1

2.% 2

3. % 3

4.% 4

Question Number : 34 Question Id : 39226618214 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

There are several beautiful parks the city limits.

Choose the correct word that fits the blank.

1. anong
2, between
3. opposite
4. with in

Options :

1% 1

2.% 2

3. % 3

4.¥ 4



Question Number : 35 Question Id : 39226618215 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Mount Logan. the highest peak in Canada. rises to 6000
mefres sea level.

Choose the correct word that fits the blank

L above
2. below
3. over
4. under

Options :

1.1

2. % )

3. % 3

4. % 4

Question Number : 36 Question Id : 39226618216 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You go there with me. I can handle it; it is not
difficult. (Absence of necessity)

Choose the most appropriate answer to express the idea
specified in brackets.

L. may not
2 must not

had better not

fad

4, don’t have to
Options :
1. %1
2. %2
3. % 3
4.9 4



Question Number : 37 Question Id : 39226618217 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

bring me a glass of water? (Request)

Choose the most appropriate answer to express the idea
specified in brackets.

[a—

Could you

2. Can’t you

(Y]

Will you to
4. Why don’t you

Options :
1.v1
2.% 2
3.% 3
4. % 4

Question Number : 38 Question Id : 39226618218 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I give a lift to the station. My car broke down
yesterday. (Inability)

Choose the most appropriate answer to express the idea
specified in brackets.

1. must not
2. should not
3. may not
4, can’'t

Options :

1. % 1

2. % 9

3. % 3

4.¥ 4



Question Number : 39 Question Id : 39226618219 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I don’t know what to do. You your father for advice.
(Suggestion)

Choose the most appropriate answer to express the idea
specified in brackets

[ are to be asked
2. could ask
3. must to ask
4. may be
Options :
1. % ]
2.4 2
3% 3
4. % 4

Question Number : 40 Question Id : 39226618220 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He did not go to the park with us yesterday because he
write a report. (Necessity)

1. could
Z must
3. had to
4. was able to
Options :
1. % 1
2.8 )
3.¢3

4, % 4



Question Number : 41 Question Id : 39226618221 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She said that the robber her.

Choose the correct answer that fits the blank.
1. has attacked

2. was attacked

fad

was attacking

4, had attacked

Options :
1. % 1
2. % 2
3. % 3
4.9 4

Question Number : 42 Question Id : 39226618222 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

My younger daughter learned in yesterday’s class that the
earth around the sun.

Choose the correct answer that fits the blank

L, was revolve
2 1s revolve
3. revolves
4. revolving
Options :
1. % 1
2. % )
3.43

4. % 4



Question Number : 43 Question Id : 39226618223 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He told me that he would visit them when he from Spain.

Choose the correct answer that fits the blank.

1. has returned
2. will return
3. returned
4. returning
Options :
1. %1
2. % )
3.¢3
4. % 4

Question Number : 44 Question Id : 39226618224 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

By the time I came back. Mike and Jane ; 8B I
couldn’t tell them about it.

Choose the correct answer that fits the blank.
1. have already left
2. had already left

had already leave

LS |

4. had been leave

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 45 Question Id : 39226618225 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He smoking for twenty years when he finally quit
smoking.

Choose the correct answer that fits the blank.

o has been
& was been
4 had been
4. have been

Options :

T

2. % )

3.43

4. % 4

Question Number : 46 Question Id : 39226618226 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I vou yesterday because my telephone was out of order.
Choose the correct answer that fits the blank.
1. do not call
2. did not call

had not call

[N

4. has not called
Options :
1. %
2.¥2
3. %3
4. % 4



Question Number : 47 Question Id : 39226618227 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the grammatically correct sentence.
1. He does not goes to school

2 He does not went to school.

(8]

He does not go to school.

4. He did not went to school

Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 48 Question Id : 39226618228 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.

L He has two cousin brothers.

2 He has two cousin sisters.

He has two cousins.

S ]

4. He has two cousin brothers and sisters.

Options :
1. % 1

2. %2
3.¢3
4. % 4



Question Number : 49 Question Id : 39226618229 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the gramuatically correct sentence.

1. He passed away in 1950.

2 He has passed away in 1950.

b

He had passed away in 1950.

4, He was passing away in 1950.
Options :
1.¥ 1
2. %2
3. % 3
4. % 4

Question Number : 50 Question Id : 39226618230 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the grammatically correct sentence.
1. She drinks milk daily.
2. She 1s drinking milk daily.
3. She has drunk milk daily.
4. She had drunk milk daily.

Options :
1.v 1
2.% 2
3.% 3
4. % 4



Question Number : 51 Question Id : 39226618231 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the grammatically correct sentence.
1. She suggested to me to go.
2. She suggested me that I should go.
3 She suggested myself for going.
4. She suggested to me to going..

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 52 Question Id : 39226618232 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The police made after the stolen car.

Choose the meaning of the phrasal verb ‘made after’

1. resembled
2 discovered
3. took care of
4. chased

Options :

1. % 1

2. % )

3% 3

4.9 4



Question Number : 53 Question Id : 39226618233 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the phrasal verb ‘keep an account of".

I: to write something as a record
2 emerge in a large number
3 move to and from
4. reach
Options :
1.v1
2.% 2
3. %3
4.% 4

Question Number : 54 Question Id : 39226618234 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The lecture was so boring that I had to walk out.

Choose the meaning of the phrasal verb “walk out’.

1. stop working
2, depart suddenly
3. figure out
4. turn off
Options :
1%
2.¥2
3. % 3

4, % 4



Question Number : 55 Question Id : 39226618235 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the phrasal verb ‘bring to’.

1. restore
2 realise
3. try
4. rear
Options :
1.v 1
2. % 2
3.% 3
4. % 4

Question Number : 56 Question Id : 39226618236 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He possessed great innate wisdomn.

Choose the antonym of the word ‘innate’.

1. in born
2 unnatural
3 acquired
4. artificial

Options :

1. % ]

2. % )

3. 3

4. % 4



Question Number : 57 Question Id : 39226618237 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the antonym of the word ‘folly”.
1. benign
2, wisdom
3. apathy
4. no1sy

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 58 Question Id : 39226618238 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

They tried to harness the ultimate secret.

Choose the antonym of the word “harness’

1. gather
2. release
3. Wiil
1. discover
Options :
1. % 1
2.4
3% 3

4, % 4



Question Number : 59 Question Id : 39226618239 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the antonym of the word ‘exuberance’.

1. apathy
2. no1sy
3 benign
4, wisdom

Options :

1.¥1

2.% 2

3. % 3

4.% 4

Question Number : 60 Question Id : 39226618240 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the similar meaning of the word ‘canopy’.

) strange
2. furious
3. tent
4, ANXIous
Options :
1. % 1
2.% 9
3.4 3

4. % 4



Question Number : 61 Question Id : 39226618241 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the similar meaning of the word ‘prowess’.

1. wise

2 coward
3 unclear
4. expertise
Options :

1. % ]

2. % )

3. % 3

4.9 4

Question Number : 62 Question Id : 39226618242 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the similar meaning of the word “advent’.

i. mcrease
2 arrival
3. dealy
4, exclaim
Options :
1. % 1
2.4
3. % 3

4. % 4



Question Number : 63 Question Id : 39226618243 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the similar meaning of the word *affliction’.
1. SOITOW

- arrogant

3. wild

4. obstacles

Options :
1.¥ 1
2. % 2
3. % 3
4. % 4

Question Number : 64 Question Id : 39226618244 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As the is too tight. I can’t untie the rope.

Choose the right word that suits the context of the sentence.

1. naught
% nought
3. not
4. knot
Options :
1% 1
2. % 2
3.% 3

4.9 4



Question Number : 65 Question Id : 39226618245 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The on the grass that sparkled in the morning sunlight.

Choose the right word that suits the context of the sentence.
1. due
2 dew

3. do

4. doe

Options :
1. %1
2.92
3.% 3
4. % 4

Question Number : 66 Question Id : 39226618246 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tamil Nadu was well developed during the of the
kings of Madurai
Choose the correct homophone that fits the blank.
L reins
2. rein
3. rain
4. reign
Options :
1% 1
2.% 2
3. %3

4.9 4



Question Number : 67 Question Id : 39226618247 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the suffix to complete the word novel

1. ling
2. ette
3. age
4. ous

Options :

1. % 1

2.¥2

3.% 3

4. % 4

Question Number : 68 Question Id : 39226618248 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the suitable prefix to form a meaningtul

word significant.
L un
2. pre
3. n
4. de
Options :
1. % ]
2.% 2
3.¥3

4. % 4



Question Number : 69 Question Id : 39226618249 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Every one knows our Prime Minister.
Choose the correct question tag.
1. don’t they?
2. don’t he?
3, do they?
4. doesn’t he?

Options :
1.9 1
2. % 2
3.% 3
4. % 4

Question Number : 70 Question Id : 39226618250 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let’s go for a walk,

Choose the correct question tag.

L. should we?
2. shall we?
3. can we?
4. could we?
Options :
1. % 1
2.4
3. % 3

4. % 4



Question Number : 71 Question Id : 39226618251 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the word that 1s spelt correctly.

1. Occurrance
. Occerrance
3 Occurrence
4. Occurence

Options :

1. % 1

2. % 2

3.¢3

4. % 4

Question Number : 72 Question Id : 39226618252 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the word that 1s spelt correctly,

3 diunkenness
i diunkness
3. diunknes

4. diunkeness

Options :
1.9 1
2.% 2
3.% 3
4, % 4



Question Number : 73 Question Id : 39226618253 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the word that 1s spelt correctly.

1. exagerte
2. exaggarete
3. exaggerate
4. exaggarate

Options :

1. %1

2. %2

3.¢3

4. % 4

Question Number : 74 Question Id : 39226618254 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first spelling test was easy.

Choose the correct form of the word that fits the blank.

i surprise
Z; surprised
3. SUrprising
4, surprisingly
Options :
1%
2. % 2
3.% 3

4.9 4



Question Number : 75 Question Id : 39226618255 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

It seems that this year’s winter 1s warmer than last
year’s.

Choose the appropriate word that completes the meaning of
the sentence.

1. very
2. rather
3. more
4. such

Options :

1. % 1

2.2

3. %3

4. % 4

Question Number : 76 Question Id : 39226618256 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She looked at him but didn’t say anything.
Choose the correct form of the word that fits the blank.
i doubt

2 doubted

3. doubtful

4. doubtfully

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 77 Question Id : 39226618257 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

My father treasures the gold watch that he was given a
retirement present.

Choose the appropriate word that completes the meaning of
the sentence.

1. like

2. as

-

3. such as

4, S0
Options :
1. % 1
2.92
3. % 3
4. % 4

Question Number : 78 Question Id : 39226618258 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She gave me a smile

Choose the correct form of the word that fits the blank.
1. happily

2 friendly

¥, friend

4, friendlily

Options :
1. % 1
2.2
3.%3
4. % 4



Question Number : 79 Question Id : 39226618259 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The survey confirmed that house prices are higher in
the South than in the North.

Choose the appropriate word that completes the meaning of
the sentence.

1. S0
7 8 more
3. most
4. much
Options :
1. % 1
2. % 2
3. %3
4.9 4

Question Number : 80 Question Id : 39226618260 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A short stay between two places in one’s journey.

Choose the one word substitution for the given expression.

1, Spamni
2. pedant
3. stopover
4. stoic
Options :
1% 1
2. %2
3.¥3

4. % 4



Question Number : 81 Question Id : 39226618261 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A group of three powerful people.

Choose the word which replaces the given expression.

i 110
2 tritiwm
3. trivet
4, frinmvirate
Options :
1. %1
2. % )
3. % 3
4. 4

Question Number : 82 Question Id : 39226618262 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A person who has forsaken his faith. principles and party.

Choose the one word substitution that replaces the expression

1. apostate
2 neophyte
3. traitor
4. infidel
Options :
1.¢1
2.% 2
3. % 3

4. % 4



Question Number : 83 Question Id : 39226618263 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Two writers writing in the same age.
Choose the word which replaces the expression.
¥ Pedants
2. Contemporaries
3. Conspirators
4. Co-authors

Options :
1. % 1
2.92
3.% 3
4. % 4

Question Number : 84 Question Id : 39226618264 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the negative sentence from the following.
1. Nobody came here.

2. She has been here.

Tad

They will come here.

4, We would go there.

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 85 Question Id : 39226618265 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the exclamatory sentence from the following.
1. He 1s very tall.
2. How tall he 1s!
3. Who is tall?
4. Why is he tall?
Options :
1% 1
2.¥2

3.%3
4, % 4

Question Number : 86 Question Id : 39226618266 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the sentence with the following structure.

Subject + verb + adverb.

1. She 1s happy.
2. We are free.
3. They went to college.
4, She came here.
Options :
L% 1
2. % 2
3. %3

4.9 4



Question Number : 87 Question Id : 39226618267 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The title of a news item 1s called:

1. headline
2. byline
3: data live
4. caption or cut line
Options :
1.v1
2.% 2
3. % 3
4. % 4

Question Number : 88 Question Id : 39226618268 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the place where the writer puts his / her signature
while writing a letter.

L, above the subscription
2. below the salutation
3. below the subscription
4. below the superscription
Options :
1% 1
2. % 2
3.¥3

4, % 4



Question Number : 89 Question Id : 39226618269 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You should call your mother more often.
The purpose of this sentence is ........

1. to express willingness

2, to give advice

3. to express ability

1. to offer something

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 90 Question Id : 39226618270 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Shall I order a pizza?

The purpose of this sentence is to ........

1. attract attention
2, give some advice
3. make a suggestion
4, cleans a doubt,
Options :
1% 1
2.% 2
3.¥3

4. % 4



Question Number : 91 Question Id : 39226618271 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the sentence that indicates a suggestion.
1. Why don’t you go for a walk daily?

2 Now., you can leave this room.

: I must go now.

4, You can win the match.

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 92 Question Id : 39226618272 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the sentence that indicates a discontinued habit.

E: You ought to walk two miles a day
2 She used to walk two miles a day.
3. You should walk two miles a day.
4. You can walk two miles a day.

Options :

1. %1

2.¥2

3.% 3

4.% 4



Question Number : 93 Question Id : 39226618273 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Let us see what we from the West.

Choose the correct option to complete the sentence
1. have to really learnt.

2 really have to learn

¥ has to learn really

4. learn really have to

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 94 Question Id : 39226618274 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct question.

k. How much do you hope to earn?
2, How much you hope to do earn?
1. How much you do hope to earn?
4, Do vou hope to earn how much?

Options :

1.v1

2. % 2

3. % 3

4.% 4



Question Number : 95 Question Id : 39226618275 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following passage.

The life of a student is, comparatively speaking, a sheltered
life. There are. of course., certain responsibilities; they are
definite and they are assigned to you by those who are willing
to take care of you and there is not much need to be constantly
exercising your own judgments.

This passage says that ...........
students have no responsibilities

1
2. students have certain responsibilities.

T4l

students are like judges

4. students give shelter to others.

Options :
1. %1
2.92
3.% 3
4. % 4



Question Number : 96 Question Id : 39226618276 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following passage.

The life of a student is, comparatively speaking, a sheltered
life. There are. of course. certain responsibilities: they are
definite and they are assigned to you by those who are willing
to take care of you and there 1s not much need to be constantly
exercising your own judgments.

This passage says that ...........

1. students are willing to exercises.

2. students must do physical exercises.

3. students can judge their decisions.
4. students need not exercise their own judgments.

Options :
1. %1
2.% 2
3.%3
4. 4



Question Number : 97 Question Id : 39226618277 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following passage.

Freedom and power bring responsibility. That responsibility
rests upon this assembly. Before the birth of freedom we have
endured all the pains of labour and our hearts are heavy with
the memory of sorrow. But the past 1s now over and the future
beckons to us now. The ambition of the greatest man 1s to
wipe every tear. As long as tears are there, so long our work
will not be over.

Choose the correct statement.

E. India became rich after independence.
2. Inequality of opportunity is eradicated
3. Our work will not be over till we wipe every tear.
4. Freedom means to live a life as we like.
Options :
1%
2. % 2
3.¢3

4, % 4



Question Number : 98 Question Id : 39226618278 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following passage.

Freedom and power bring responsibility. That responsibility
rests upon this assembly. Before the birth of freedom we have
endured all the pains of labour and our hearts are heavy with
the memory of sorrow. But the past 1s now over and the future
beckons to us now. The ambition of the greatest man 1s to
wipe every tear. As long as tears are there. so long our work
will not be over.

Our hearts are heavy because of ............

l. the ambition of the greatest man.
2. the memories of sorrow
4 freedom and responsibility

4. birth of freedom.

Options :
1. % 1
2.92
3.% 3
4. % 4



Question Number : 99 Question Id : 39226618279 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following passage.

All the world is a stage and all the men and women are merely
players. They have their exits and their entrances.

The phrase ‘exits and entrances’ refers to:

1. love and hatred
2 dreams and validly
3. life and love

4. births and deaths
Options :
1. % 1
2. %2
3. %3
4.9 4

Question Number : 100 Question Id : 39226618280 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Read the following passage.
All the world 1s a stage and all the men and women are merely
players. They have their exits and their entrances.

Men and women are compared with

1. entrances
2. characters
3 stages
4. merely exits
Options :
1. % 1
2.9 2
3.% 3

4.% 4



